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SECTION A;: MULTIPLE-CHOICE QUESTIONS & The expected value is - - - -

always the mean of a set of outcomes

the outcome multiplied by “n" (number of observations)
the outcome multiplied by its probability of occurring
none of the above

Indicate the correct answer to each question on the mark-reading sheet.

1. Which one of the following is an example of subjective uncertainty?

P IO —

1 physical laws.
2  generic research 7. Interms of the King Il Repont, businesses should report on their - - - -

3 investments.

4 space exploration. a transformation policy
b environmental management policy
2. A company has a fleet of 200 cars and, on average, 50 cars are damaged annualiy in ¢ health policy
accidents. The probability of such damage to a car 15 .. d remuneration packages of directors
i 0,15 Choose the carrect combination.
2 025
3 G50 4 g ) 1 abed
4 (0,20 2 acd
3 becd
3. Indicate the correct statement 4 abc
1 Speculative risk deals only with those risks that have a ioss or no-loss oulcome. B Enterprise risk management is characterised by - - - -.
2 Core husiness risks include activities, decisions and events that have an
indirect impact on an organisation’s operating profit 1 narrow focus on hazard risks
3 The major subcategory of incidental risk is financial risk. 2 acomprehensive, inclusive and proactive approach to risk management
4  Unsystematic risk affects an individual enterprise and is related to the rest of the 3 afunctional approach to risk management responsibilities
economy. 4 lack of consistency in terms of level of detail and reporting formats
4. Which of the following is an example of event risk for a motorcar manufacturer? 9. The need for a more integrated and holistic view of risk management is emphasized
b
1 fluctuation in sales /
2 the incompetence of production staff a change
3] Changes in the wages pald to workers b new business practices
4 the cost of components w ¢ increase of insurance and the development of alternative risk transter (ART)

_ o d the increased value of intangible assets
5. The impact of corporate governance on business areas of the enterprise include

the following: Choose the correct combination.
a employing assets inefficiently 1 a,b,cd

b meeting social obligations. ? becd

¢ improving overall performance. 3  abc

d attracting lower-cost capital. 4 abd

Chaose the correct combination

1 ad |

2 abd

3 becd

4 abcd
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10. Indicate the ingorrect statement

1 Individual risks and interdependencies can best be addressed by an integrated
team.

2  Traditional risk management is consistent and generatas reliable reports,

3  The only objective of risk reporting is to increase risk transparency.

4  Business risk management adopts a portfolio view of all risks.

11. Hijackings in the centre of Johanneshurg are a category four type of risk characterised
by----.

1 high frequency and high severity
2 high frequency and low severity
3 low frequency and low severity
4 low frequency and high severity

12.Which one of the following is a key characteristic of the traditional approach to risk
management?

1 function driven.
2 proactive,
3  value based.
4  integrated.
13.Which one of the following is considered a traditional risk control measure?
1 fauit tree analysis
2 quality assurance systems
3 hazard and operational studies
4 failure mode analysis

14.Internal factors that may influence the corporate and risk management objectivese
include - - - -

the natural environment within which an enterprise operates
the infrastructure of the enterprise

the technology used in the enterprise

the personne! the enterprise has at its disposal

aoown

Choose the correct combination.

ab,cd
abc
becd
bd

Sy =
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15. Which of the following are considered when establishing the potential irequency of
losses? Latinal juency

incident reporting

national and international frends
standing charges

near misses

Ooocw

Choose the correct combination,

ab,cd
b,cd.
a,b,c
a,b,d

o =

16, The risk of a possible loss of items of relatively smail value such as hand tools is best
handled by - - - -,

avoidance
reduction
assumption
elimination

Lo Ay —

17. A properly designed risk framework for an enterprise serves the following purposes:

prioritising and collecting of information. 5
categorising risks

formulating a common risk language

identifying and prieritising risk expasures

Qoo

Choose the correct combination.

Answer questions 18 and 19 by making use of the following information:

Company A uses short-term finance by issuing banker's acceptances. The treasurer
expects short-term interest rates to rise and wants to hedge the next BA rollover,
Assume that the following information applies:

Nominal amount R1 C0O GO0
Current date 4 April
Rollover/settlement date 20 July
Spot rate on 20 July 16,50%
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FRA spot-rate offer 17,60% 22. An organisation's limit framework should include a combination of the following:
The treasurer wants 1o hedge the next rollover by buying a forward rate agreement
{FRA) a1 17,60% a volume limits
b portfohio level limits
18 In order to lock 1n a discount rate of 17,60% - - - - c value-at-risk (VaR) limits
d stop loss limits
1 the bank will have to pay R2 712,33 to Company A
2  Company A will have to pay R2 712,33 to the bank Choose the correct combination.
3 the bank will have to pay R4 685 to Company A
4

Company A will have to pay R4 685 to the bank 1 a,bc
2 acd
19. The cost (discount) of issuing the BA will be - - - - 3 b.ed
4 a,b,c.d
1 R40 684,93
2 R38 219,18 23. Which of the following are examples of alternative risk transfer (ART) techniques?
3  R35506,85 ® L . ]
4 R 3452,05 a futures
b swaps
20 In an effort {o create a supportive werk environment, enterprises are expected to do o risk securitisation
the following: d options
a promote leaming. Choose the correct combination.
b learn from experience.
c improve reporting and capital allocation. 1 a,b
d demonstrate management leadership. 2 a,b,d
3 b.cd
Choose the correct combination. 4 abed
; a.b,g 24. A fire-practice drill by staff for risk control purposes is an example of - - - -,
a.c,
3 b,cd 1 a physical measure
4 abcd @ & 2  a procedural measure
o 3 education and training
21.A six-month put option is written on a comrodity at a strike price of RB5. The premium 4  alegai measure
of the aption is R0.50. The market price of the commaodity at the time the option was
written was R84. Three months after the option was written, the market price of the 25. Which of the following environmental factors contribute to the successful
commodity dropped to R83. implementation of an ERM framework?
Based on the above information, the buyer of the option will - - - -, culture

performance managernent and compensation.
training and communications.
data and information systems.

1 walk away from the option and lose the premium

2 walk away from the option and buy the commodity at a lower price on the market
3 exercise the option and make a profit of R1.50

4 axercise the option and make a profit of R2.50

aooon
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29 The reasons for aggregating the activities directed at achieving enterprise-

Choose the correct combination. H10 !
wide risk include the following:
t abcd )
2 acd a  the cumulative effect of risk
3 abc b increased efficiency and better decisions
4 ad c improved repcrting and capital allocation
d simplicity
26. indicate the correct statement. )
Choose the correct combination.
L The credit risk aftached to forward contracts is lower than that of futures contracts
2  Futures contracts are more liquid than forward contracts. 1T ab
3 Futures contracts tend to be more expensive than forward coniracts. 2 abgc
4  Futures contracts are normaily used to cover currency risk in international trade. 3 a.g.d q
4,b,C,
27. The benefits of including a monitoring stage in the risk management process include ) . . ] o
30. The following tasks create a basis from which to launch an enterprise-wide risk
@ @ management stralegy:
a accumulating evidence to support assumptions and results of the analysis o )
b increasing the cost associated with improper ar redundant risk control a  establishing an oversight structure
c identifying new or changing risks b defining a common language and framework
d improving the risk management process as a whole o} summarising an extremely complex set of relationships
d assessing risk management capabilities

Choose the correct combination
Choose the correct combination.
a,b,cd
ab,c
a,b.d
a.c

ab.c
acd
b.c,d
ab.d

B0 N —
WM —

28. Monitoring processes are generally applied to accomplish the following: [30 X 1 = 30]

a determine changes in an enterprise’'s risk profile

b identify emerging risks @ @
c evaluate risk management performance

d  evaluate the adequacy of specific measures, policies and procedures

Choose the corirect combination
1 abec
2 bocd
3 acd
4 abcd
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SECTION B: PARAGRAPH QUESTIONS AND CALCULATIONS

Question 1

Campare the riskiness of the following sets of share prices collected over a four-maonth

period
__SHAREA . -
| Price | Expected value | Deviation | Squared deviation
[ [ o >
I R2 120 -\;:_—\\(.“3 r)/c) o 2)2 T ‘OC‘:}\G . (:")
R2 140 = i -
| =2 2Q | Sl 05 -
‘R2170 — o o = ]
~ V3L S0 WO . o6 c
R2180 - a - B (T |
2 A {)b = CJ b LJ
i3 | (" & = @
Variance | Standard deviation | Coefficient of variation B | L
Ll STy e TS 2485 K=
. ey 215 b & _A
- C‘)L | -~ "2 [} ".-,\I ! -
- - = 0,00
S5 : - (4)
- ___SHAREB . (e
Price | Expected value Jeviation | Squared deviation
R2 510 —_— Ty e O ol o o~ -5
L 225950 70-C0 | 8350 2|
2 360 , S o
2254, 50 97-90 A A v %
'R2120 X — 15750 - BB
R2 160 ~ | . SC.. 5 € :
225490 ~ 1.3 -%0 [L2S96 28 2%
| SO~ Lf
Variance Standard deviation Coefficient of variation 1
e — ——=— Co .29
A O Sy J 243635 VoS¢
‘ 2(—\‘ qb%'%‘ \ £ ) - # ! ¢
PR
' o - B2
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Comment on the riskiness of the two sets of share prices. (2)
8 e ) {'ql\('ﬁ.(-\_{ ;\_\JEI_\_.’-{.Q('\ D? Ao lq \QS(__ [ T
e g L e - —
(101
g Question 2
21  What are the limitations of the Companies Act 61 of 1973 in terms of corporate
governance? (4)
B | i
\ woiedeh . i
20 ooyt ek g Tl yne L 9 o rr “ry ! A5 0
kY
(ey Goaabivenersgl ook Ser e il
! £y S <
kb oae) 1t
J . |
R - \ ! . Lo W 2 4 '
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2.2 Evaluate and comment on the benefits of the effective implementation of enterprise
risk management (ERM) 6

Question 3

3.1  Motivale how you as a financial manager would use financial statements to identify
risks. (4

[TURN OVER]
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3.2 An organisation suffers a loss every 10 years. The average value of the losses is R500
000. The probability that the organisation will suffer a loss of R500 000 during the
financial year is cne in 10 or 0.10.

Calculate the expected annual loss, (3)
@ 3.3 Distinguish between forward and futures contracts. (3}
Focu s el e

(10)

*3 [TURN OVER]



14 MNK203-R
May/Jun 2008

Question 4

A risk manager is instructed to determine the impact of a possible fire on the organisation.
Motivate the methods that might assist the risk manager in determining the severity of such a
possible loss for the organisation (10)

{10

[4 x 10 = 40]
TOTAL MARKS: 70

{TURN OVER]
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